DONOVAN

MOTORCAR SERVICE

Fine Automobile Service & Restoration

Jaguar Specialists



Invoice

43134

Lenox, MA 01240

Tel: (413) 499-6000/Fax; (413) 499-6699 www.donovanmotorears.com

100007123.(415) 457 0077		2	
Bill To www.donovanmotorcars.com			
Richard Knoener 16 Barnard Road Granville, MA 01034 SERIAL NUMBER HBJ8L42109 Richard Knoener 16 Barnard Road Granville MA 01034 ODOMETER 70,000	DAT	E	8/9/2018
of of the stands	PHON	E 41	3-357-8706
SERIAL NUMBER REPORTED ODOMETER	YR/M	MAKE/MC	DEL
HBJ8L42109 70,000	1967	7 Austin H	ealey
DESCRIPTION	QTY	RATE	AMOUNT
Install spark plugs provided. Test drive. Remove carbs, disassemble, clean and rebuild. Tune carbs. Adjust valves. Test drive	16	105.00	1,680.00
carb rebuild kit, dual	1	159.95	159.95T
fuel feed hose	1	35.50	35.50T
fuel hose, carbs	1	5.50	5.50T
valve cover gasket	1	12.50	12.50T
Install spark plugs provided. Test drive. Remove carbs, disassemble, clean and rebuild. Tune carbs. Adjust valves. Test drive carb rebuild kit, dual fuel feed hose fuel hose, carbs valve cover gasket Shop supplies Adjust valves. Test drive. Remove carbs, disassemble, clean and rebuild. Tune carbs. Adjust valves. Test drive Carb rebuild kit, dual fuel feed hose fuel hose, carbs valve cover gasket Shop supplies Adjust valves. Test drive. Remove carbs, disassemble, clean and rebuild. Tune carbs. Adjust valves. Test drive Carb rebuild kit, dual fuel feed hose fuel hose, carbs Valves valves. Test drive Carb rebuild kit, dual fuel feed hose fuel hose, carbs Valves valves. Test drive Carb rebuild kit, dual fuel feed hose fuel hose, carbs Valves valves. Test drive Carb rebuild kit, dual fuel feed hose fuel hose, carbs Valves valves. Test drive Carb rebuild kit, dual fuel feed hose fuel hose, carbs Valves valves. Test drive Carb rebuild kit, dual fuel feed hose fuel hose, carbs Valves valves valves. Test drive Carb rebuild kit, dual fuel feed hose fuel hose, carbs Valves va		25.00	25.00T
spent to the part of the state			
Tout was K got 360 In			_
7 7 chestohic		***************************************	-
7			

Fall is the best time to service your vintage car or any vehicle that you will put away for the winter. Good storage will keep your car in the best possible condition for spring. Give us a call to schedule your service or to discuss your storage needs.

Subtotal

\$1,918.45

Total

\$14.90

WE APPRECIATE YOUR BUSINESS!

Payments/Credits

Sales Tax (6.25%)

\$1,933.35 \$0.00

Payment is due upon receipt. Any balance due beyond 30 days will result in an 18% per month finance charge. Any car left past 30 days will incur storage fees of \$200 per month.

Balance Due



45117

Fine Automobile Service & Restoration Jaguar Specialists

4 Holmes Road Lenox, MA 01240 Tel: (413) 499-6000/Fax: (413) 499-6699 www.donovanmotorcars.com

Bill To

Richard Knoener 16 Barnard Road Granville, MA 01034

DATE 6/18/2020

PHONE

413-357-8706

SERIAL NUMBER

ODOMETER

YR/MAKE/MODEL

HBJ8L42109

70,000

1967 Austin Healey

DESCRIPTION	QTY	RATE	AMOUNT
Performed lube, oil and filter service. Topped off all fluids and checked tire pressures. General check over. Flush and change antifreeze	2	115.00	230,00
oil filter	1	15.00	15.00
qts. oil with zinc	9	9.50	85.50
gal, antifreeze/coolant	2	23.50	47.00
Shop supplies		10.00	10.00
EPA waste disposal fee		4.00	4.00
		Î	
pd cc 6/18/20			

	Subtotal	\$391.50
	Sales Tax (6.25%)	\$9.84
WE APPRECIATE YOUR BUSINESS!	Total	\$401.34
Payment is due upon receipt. Any balance due beyond 30 days will result in an 18% per month finance	Payments/Credits	\$0.00
charge. Any car left past 30 days will incur storage fees of \$200 per month.	Balance Due	\$401.34



44264

Fine Automobile Service & Restoration Jaguar Specialists 4 Holmes Road Lenox, MA 01240 Tel: (413) 499-6000/Fax: (413) 499-6699

www.donovanmotorcars.com

Bill To

Richard Knoener 16 Barnard Road Granville, MA 01034

DATE 8/16/2019

PHONE

413-357-8706

SERIAL NUMBER

ODOMETER

YR/MAKE/MODEL

HBJ8L42109

70,000

1967 Austin Healey

DESCRIPTION	QTY	RATE	AMOUNT
Performed lube, oil and filter service. Topped off all fluids and checked tire pressures. General check over	1	115.00	115.00
oil filter	1	15.00	15.001
qts. oil with zinc	9	9.50	85.501
Shop supplies		10.00	10.001
EPA waste disposal fee	1 1	4.00	4.00
] [
		l	
1 22 00 100			
pd cc 8/16/19		20 00 4000	

Fall is the best time to service your vintage car or any vehicle that you will put away for the winter. Good storage will keep your car in the best possible condition for spring. Give us a call to schedule your service or to discuss your storage needs. WE APPRECIATE YOUR BUSINESS!	Subtotal	\$229.50
Give us a call to schedule your service or to discuss your storage needs.	Sales Tax (6.25%)	\$6.91
WE APPRECIATE YOUR BUSINESS!	Total	\$236.41
Payment is due upon receipt. Any balance due beyond 30 days will result in an 18% per month finance	Payments/Credits	\$0.00
charge. Any car left past 30 days will incur storage fees of \$200 per month.	Balance Due	\$236.41



42029

Fine Automobile Service & Restoration Jaguar Specialists 4 Holmes Road Lenox, MA 01240 Tel: (413) 499-6000/Fax: (413) 499-6699 www.donovanmotorcars.com

Bill To

Richard Knoener 16 Barnard Road Granville, MA 01034

DATE

8/7/2017

PHONE

413-357-8706

SERIAL NUMBER

ODOMETER

YR/MAKE/MODEL

HBJ8L42109

70,000

1967 Austin Healey

DESCRIPTION	QTY	RATE	AMOUNT
Troubleshoot engine skip. Clean fouled spark plugs. Check carb tune. Move exhaust clamp for clearance: ok.	2	105.00	210.00
Check brake servo: sticky. Replace servo. Test drive. No charge.			
Pa 8/1 #84/2			COO MALVANIA

With the warmer weather here, it's time to call us to schedule your automotive service. This will ensure an enjoyable, trouble-free summer of driving.

Subtotal

\$210.00

Sales Tax (6.25%)

\$0.00

Total

\$210.00

WE APPRECIATE YOUR BUSINESS!

Payments/Credits

\$0.00

Payment is due upon receipt. Any balance due beyond 30 days will result in an 18% per month finance charge. Any car left past 30 days will incur storage fees of \$200 per month.

Balance Due

\$210.00

8/8 cmm Will Called 8/9-Cust hopes to prot up



42958

Fine Automobile Service & Restoration
Jaguar Specialists
4 Holmes Road
Lenox, MA 01240
Tel: (413) 499-6000/Fax: (413) 499-6699
www.donovanmotorcars.com

Bill To

Richard Knoener 16 Barnard Road Granville, MA 01034

DATE

6/15/2018

PHONE

413-357-8706

SERIAL NUMBER

ODOMETER

YR/MAKE/MODEL

HBJ8L42109

70,000

1967 Austin Healey

DESCRIPTION	aty	RATE	AMOUNT
Check over car. Change oil and filter. Test drive. Repair boot lid hinge	2	105.00	210.00
Oil filter	1	15.50	15.50T
qts. oil with zinc	8	9.50	76.001
EPA waste disposal fee Shop supplies		4.00 8.00	4.00 8.00T
		7,500,000	25 (\$650)27 (\$100)24
196			
a			
		1	
·			

Fall is the best time to service your vintage car or any vehicle that you will put away for the winter. Good storage will keep your car in the best possible condition for spring.

Give us a call to schedule your service or to discuss your storage needs.

Subtotal

\$313.50

Sales Tax (6.25%)

\$6.22

WE APPRECIATE YOUR BUSINESS!

Total

\$319.72

Payment is due upon receipt. Any balance due beyond 30 days will result in an 18% per month finance charge. Any car left past 30 days will incur storage fees of \$200 per month.

Payments/Credits

\$0.00

Balance Due

\$319.72



41791

Fine Automobile Service & Restoration Jaguar Specialists 4 Holmes Road

Lenox, MA 01240 Tel: (413) 499-6000/Fax: (413) 499-6699 www.donovanmotorcars.com

Bill To

Richard Knoener 16 Barnard Road Granville, MA 01034

DATE

5/24/2017

PHONE

413-357-8706

SERIAL NUMBER

ODOMETER

YR/MAKE/MODEL

HBJ8L42109

70,000

1967 Austin Healey

DESCRIPTION	QTY	RATE	AMOUNT
Remove tachometer and have converted for electronic ignition. Remove and replace full electrical harnesses.	44.5	105.00	4,672.50
Cut out and replace rear frame outriggers. Cut out access panels in floors. Replace outriggers, weld, seam seal and coat. Replace spring shackle bushings. Re-assemble rear springs.	39.5	105.00	4,147.50
Replace leaking brake booster. Bend new lines. Fabricate shield. Flush and bleed brakes.	12	105.00	1,260.00
Re-wire radio and speakers. Install interior.	4.5	105.00	472.50
Check over car. Top up all fluids.	2	105.00	210.00
main wiring harness	1	389.00	389.00T
tachometer conversion, rebuild	1	350.00	350.00T
qts. brake fluid	1	23.50	23.501
pt. hydraulic oil	1	7.50	7.501
spring mounting brackets	2	48.50	97.001
outrigger panels	2	149.00	298.00T
brake servo kit	1	265.50	265.501
bulbs	4	2.50	T00.01
snap connectors	49	2.50	122.501
headlamp harnesses	2	29.50	59.001
shackle bushing kit	1	8.50	8.50T
brake lines 170 6/2 8290	2	12.50	25.001

With the warmer weather here, it's time to call us to schedule your automotive service.

This will ensure an enjoyable, trouble-free summer of driving.

Subtotal

Sales Tax (6.25%)

Total

Payments/Credits

Balance Due

WE APPRECIATE YOUR BUSINESS!

Payment is due upon receipt. Any balance due beyond 30 days will result in an 18% per month finance charge. Any car left past 30 days will incur storage fees of \$200 per month.

Page 1

5/25 Rich will Plu 1st sunny day.



41791

Fine Automobile Service & Restoration

Jaguar Specialists

4 Holmes Road Lenox, MA 01240

Tel: (413) 499-6000/Fax: (413) 499-6699 www.donovanmotorcars.com

Bill To

Richard Knoener 16 Barnard Road Granville, MA 01034

DATE

5/24/2017

PHONE

413-357-8706

SERIAL NUMBER

ODOMETER

YR/MAKE/MODEL

HBJ8L42109 .

70,000

1967 Austin Healey

DESCRIPTION	QTY	RATE	AMOUNT
vacuum hose	1	7.50	7,501
Shop supplies, grinding and welding supplies Incoming shipping charges		100.00 78.45	100.00T 78.45T
Less deposit	-1	5,000.00	-5,000.00
	ļ		
	U-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1	1	

With the warmer weather here, it's time to call us to schedule your automotive service. This will ensure an enjoyable, trouble-free summer of driving.

Subtotal

Total

\$7,603.95

Sales Tax (6.25%)

\$115.09

WE APPRECIATE YOUR BUSINESS!

Payments/Credits

\$7,719.04 \$0.00

Payment is due upon receipt. Any balance due beyond 30 days will result in an 18% per month finance charge. Any car left past 30 days will incur storage fees of \$200 per month.

Balance Due

\$7,719.04



Upfront Deposit

Fine Automobile Service & Restoration Jaguar Specialists

SOLD TO.

Richard Knoener 16 Barnard Road Granville, MA 01034 DATE

5/4/2017

YEAR / MAKE / MODEL / MILEAGE

PAYMENT MADE BY

1967 Austin Healey 70,000

Check #8235

DESCRIPTION		QTY	RATE	AMOUNT
Deposit on new frame and wiring harness.		1	5,000.00	5,000.00
	-			
			**	
	and the second			

ALL SPECIAL ORDER PARTS ARE TO BE PAID IN ADVANCE. ALL SPECIAL ORDER PARTS ARE NON-RETURNABLE.

Subtotal	\$5,000.00
Sales Tax (6.25%)	\$0.00
Total	\$5,000.00

5/24/17 41791 LSUSO>



41693

Fine Automobile Service & Restoration Jaguar Specialists 4 Holmes Road Lenox, MA 01240 Tel: (413) 499-6000/Fax: (413) 499-6699 www.donovanmotorcars.com

Bill To

Richard Knoener 16 Barnard Road Granville, MA 01034

DATE

4/28/2017

PHONE

413-357-8706

SERIAL NUMBER

ODOMETER

YR/MAKE/MODEL

HBJ8L42109

1967 Austin Healey 70,000

DESCRIPTION	QTY	RATE	AMOUNT
Deposit on new frame and wiring harness.		5,000.00	5,000.00

		Ì	

With the warmer weather here, it's time to call us to schedule your automotive service. This will ensure an enjoyable, trouble-free summer of driving.

Subtotal

Total

\$5,000.00

Sales Tax (6.25%)

\$0.00

WE APPRECIATE YOUR BUSINESS!

\$5,000.00

Payment is due upon receipt. Any balance due beyond 30 days will result in an 18% per month finance charge. Any car left past 30 days will incur storage fees of \$200 per month.

Payments/Credits

\$0.00

Balance Due

\$5,000.00



Fine Automobile Service & Restoration Jaguar Specialists

35626

INVOICE

4 Holmes Road Lenox, MA 01240

(413) 499-6000/Fax (413) 499-6699 www.donovanmotorcars.com

BILL TO

DATE

6/20/2014

Richard Knoener 16 Barnard Road Granville, MA 01034

PHONE

SERIAL NUMBER

YR/MAKE/MODEL/ODOMETER

1967 Austin Healey 70,000

	DESCRIPTION	QTY	RATE	AMOUNT
Brake fluid		1.	22.50	22.501
	Daid Cash			
	Paid Cash 6/20/14			
	P			
			A Comment	

THANK YOU FOR YOUR BUSINESS! Payment is due upon receipt. Any balance due beyond 10 days will result in a 1.8% per month finance charge. Any car left past 10 days will incur storage fees of \$200 per month.

Sales Tax 6.25%

\$1.41

Sub Total

\$23.91

Wondering about where to store your four-wheeled pride-and-joy for the winter months? Why not store it here at Donovan's! Call Dean Forsman at 413-499-6000 for more information.

Balance Due

\$23.91



INVOICE

35603

BILL TO

4 Holmes Road Lenox, MA 01240 (413) 499-6000/Fax (413) 499-6699 www.donovanmotorcars.com

DATE

6/13/2014

PHONE

860-930-4385

Richard Knoener 16 Barnard Road Granville, MA 01034

SERIAL NUMBER

YR/MAKE/MODEL/ODOMETER

HBJ8L42109

1967 Austin Healey

70,000

DESCRIPTION	QTY	RATE	AMOUNT
Replace faulty brake master cylinder. Repair brake line. Flush and bleed. Adjust rear brakes.	6	95.00	570.00
Change oil and filter.	1.	95.00	95.00
Check tune. Adjust idle and mixture. Check over car. Test battery. Test drive.	3	95.00	285.00
oil filter qts. oil with zinc brake master cylinder qt. brake fluid Miscellaneous Shop Supplies Incoming Shipping Charges # 6402.	1 8 1 1	18.50 9.50 120.59 18.50 10.00 13.75	18.50T 76.00T 120.59T 18.50T 10.00T 13.75T
Velacle (5 leaving)	£		

THANK YOU FOR YOUR BUSINESS! Payment is due upon receipt. Any balance due beyond 10 days will result in a 1.8% per month finance charge. Any car left past 10 days will incur storage fees of \$200 per month.

Sales Tax 6.25%

\$16.08

Sub Total

\$1,223.42

Wondering about where to store your four-wheeled pride-and-joy for the winter months? Why not store it here at Donovan's! Call Dean Forsman at 413-499-6000 for more information.

Balance Due

\$1,223.42



Fine Automobile Service & Restoration Jaguar Specialists INVOICE

34509

BILL TO

4 Holmes Road Lenox, MA 01240 (413) 499-6000/Fax (413) 499-6699 www.donovanmotorcars.com

DATE

8/17/2013

PHONE

860-930-4385

Richard Knoener 16 Barnard Road Granville, MA 01034

SERIAL NUMBER

HBJ8L42109

YR/MAKE/MODEL/ODOMETER

1967 Austin Healey 70,000

DESCRIPTION QTY RATE AMOUNT Remove and rebuild front brake calipers. Flush and bleed 95.00 8.0 760.00 brakes. Replace front brake line. Replace leaking clutch slave cylinder. 1.0 95.00 95.00 Check oil leaks: rear of engine, crank thrower. No charge 0.0 95.00 0.00 Tune carburetors and set timing. 2.5 95.00 237.50 Caliper rebuild kit 1.0 52.95 52.95T Stainless steel pistons 4.0 29.95 119.80T Brake line 1.0 15.00 15.00T Brake Fluid 1.0 18.50 18.50T Clutch slave 37.95 1.0 37.95T Brake caliper o-rings 2.0 3.00 6.00T Incoming Shipping Charges 27.35 27.35T Miscellaneous Shop Supplies 25.00 25.00T

THANK YOU FOR YOUR BUSINESS! Payment is due upon receipt. Any balance due beyond 10 days will result in a 1.8% per month finance charge. Any car left past 10 days will incur storage fees of \$200 per month.

Wondering about where to store your four-wheeled pride-and-joy for the winter months? Why not store it here at Donovan's! Call Dean Forsman at 413-499-6000 for more information.

Sales Tax 6.25%

\$18.91

Sub Total

\$1,413.96

Balance Due

\$1,413.96



Fine Automobile Service & Restoration Jaguar Specialists

INVOICE

34453

BILL TO

4 Holmes Road Lenox, MA 01240 (413) 499-6000/Fax (413) 499-6699 www.donovanmotorcars.com

DATE

8/1/2013

PHONE

860-930-4385

Richard Knoener 16 Barnard Road Granville, MA 01034

SERIAL NUMBER

HBJ8L42109

YR/MAKE/MODEL/ODOMETER

1967 Austin Healey 70,000

DESCRIPTION		RATE 2	AMOUNT
Clean clutch slave cylinder, sticking in bore. Free up clutch. Flush brake & clutch system, fresh fluid. Clean engine to check for oil leaks. Clean transmission and differential also seeping from overdrive to gearbox, no major leaks.	3.0	95.00	285.00
Lube, oil, & filter. Top off all fluids.	1.0	95.00	95.00
Change spark plugs.	0.5	95.00	47.50
Oil filter Spark plugs Distributor rotor Brake Fluid Face gilt - qt Zinc EPA Waste Disposal Fee Miscellaneous Shop Supplies	1.0 6.0 1.0 1.5 8.0	15.00 5.50 18.75 18.50 9.50 3.00 12.00	15.00T 33.00T 18.75T 27.75T 76.00T 3.00
BY: 20 20 20 20 20 20 20 20 20 20 20 20 20			

THANK YOU FOR YOUR BUSINESS! Payment is due upon receipt. Any balance due beyond 10 days will result in a 1.8% per month finance charge. Any car left past 10 days will incur storage fees of \$200 per month.

Sales Tax 6.25% Sub Total

\$11.41

Balance Due

\$624.41

Wondering about where to store your four-wheeled pride-and-joy for the winter months? Why not store it here at Donovan's! Call Dean Forsman at 413-499-6000 for more information.

\$624.41



Fine Automobile Service & Restoration Juguar Specialists

4 Holmes Road Lenox, MA 01240 (413) 499-6000/Fax (413) 499-6699 www.donovanmotorcars.com

INVOICE

33264

BILL TO

Richard Knoener 16 Barnard Road Granville, MA 01034 DATE

9/5/2012

PHONE

413-357-8706

SERIAL NUMBER

YR/MAKE/MODEL/ODOMETER

HBJ8L42109

1967 Austin Healey

70,000

QTY	RATE	AMOUNT
3	95.00	285.00
accession of the state of the s	10,00	10.001
		3 95.00

THANK YOU FOR YOUR BUSINESS! Payment is due upon receipt. Any balance due beyond 10 days will result in a 1.8% per month finance charge. Any car left past 10 days will incur storage fees of \$200 per month.

Wondering about where to store your four-wheeled pride-and-joy for the winter months? Why not store it here at Donovan's! Call Dean Forsman at 413-499-6000 for more information.

Sales Tax 6.25%

\$0.63

Sub Total

\$295.63

Balance Due

\$295.63

lary spake week.



MOTORCAR SERVICE

Fine Automobile Service & Restoration Jaguar Specialists

4 Holmes Road Lenox, MA 01240 (413) 499-6000/ Fax (413) 499-6699 www.donovanmotorcars.com INVOICE

32905

BILL TO

DATE

5/17/2012

PHONE

413-357-8706

Richard Knoener 16 Barnard Road Granville, MA 01034

SERIAL NUMBER

YR/MAKE/MODEL/ODOMETER

HBJ8L42109

1967 Austin Healey

70,000

DESCRIPTION	QTY	RATE	AMOUNT
Change oil and filter. Lube. Check over.	1	95.00	95.00
Check over. Degrease engine compartment and undercarriage. Sand, prime and paint inner fenders and touch-up.		95.00	760.00
Check; tune. Repair choke cable. Road test. Check overdrive; o.k.	2	95.00	190.00
Repair radio console. Replace missing screws. Glue trim.	1	95.00	95.00
Oil filter Paint touch-up Qts. oil EPA Waste Disposal Fee Miscellaneous Shop Supplies	1 1 9 1	15.00 20.00 5.50 3.00 20.00	15.00T 20.00T 49.50T 3.00 20.00T
BY: 5/23			

THANK YOU FOR YOUR BUSINESS! Payment is due upon receipt. Any balance due beyond 10 days will result in a 1.8% per month finance charge. Any car left past 10 days will incur storage fees of \$200 per month.

Wondering about where to store your four-wheeled pride-and-joy for the winter months? Why not store it here at Donovan's! Call Brad Spear at 413-499-6000 for more information.

Sales Tax 6.25%

\$6.53

TOTAL

\$1,254.03

Balance Due

\$1,254.03

5/18 81414



INVOICE

32020

BILL TO

Fine Automobile Service & Restoration. Jaguar Specialists 4 Holmes Road Lenox, MA 01240 (413) 499-6000/Fax (413) 499-6699 www.donovanmotorcars.com

DATE

6/16/2011

PHONE

413-357-8706

Richard Knoener 16 Barnard Road Granville, MA 01034

SERIAL NUMBER

HBJ8L42109

YR/MAKE/MODEL/ODOMETER

1967 Austin Healey

DESCRIPTION	QTY	RATE	AMOUNT
Drain oil from steering box. Re-pack with grease. Tighten covers.	1.0	95.00	95.00
Replace LH rear axle seal and gasket at hub. Clean brake shoes.	3.0	95.00	285.00
Degrease chassis. Change oil and filter. Check over car.	0.5 1.0	95.00 95.00	47.50 95.00
Hub seal Gasket	1.0	16.80 1.28	16.80T 1.28T
Miscellaneous Shop Supplies Incoming Shipping Charges BY: Check		20.00	20.00T 8.75T
*			

THANK YOU FOR YOUR BUSINESS! Payment is due upon receipt. Any balance due beyond 10 days will result in a 1.8% per month finance charge. Any car left past 10 days will incur storage fees of \$200 per month.

Subtotal

\$569.33

Sales Tax 6.25%

\$2.93

Wondering about where to store your four-wheeled pride-and-joy for the winter months? Why not store it here at Donovan's! Call Brad Spear at 413-499-6000 for more information.

TOTAL

\$572.26

CMM 8/17 @1030

DETACH AND (RETAIN FOR	YOUR RECOR	'n
--------------	------------	------------	----

LIMITED USED VEHICLE WARRANTY 19 Auto Deend p/11/2021 Afri Franklop (name of dealer) (the "Dealer") AUHE 1967 3000 HBJ864210 (make, year and model of vehicle and VIN number) against any defect, malfunction, or combination of defects or malfunctions, that impairs its safety or use for a period of (A) 90 days or 3,750 miles, whichever comes first (for vehicles with fewer than 40,000 miles on the odometer at the time of sale, or if the true mileage is not known and the vehicle is three years old or less) (B) 60 days or 2,500 miles, whichever comes first (for vehicles with 40,000 to 79,999 miles on the odometer at the time of sale, or if the true mileage is not known and the vehicle is more than three but less OD2001 Rev. 5/18 than six years old) (C) 30 days or 1,250 miles, whichever comes first (for vehicles with 80,000 to 124,999 miles on the odometer at the time of sale, or if the true mileage is not known and the vehicle is six years old or more) from the date of delivery of the vehicle to you. (Dealer to check A, B, or C above.) The Dealer will provide the full cost of parts and labor necessary to repair all covered defects. Firever, the Dealer may charge you up to a total of \$ fill in an amount from \$0 to \$100) per vehicle for the repair of all covered defects during 19 the warranty period: The warranty period is extended one day for every day the vehicle is in the shop for repairs, and one mile for every mile the vehicle is driven between the dealer's acceptance of the vehicle for repair and its return to the consumer. The warranty is extended for 30 days from the completion of any repair attempt for every defect that was the subject of the repair attempt. The Dealer will give you a refund if a defect that impairs the safety or use of the vehicle continued to exist or recurred within the warranty period after either three repair attempts for the same defect or being out of service after being returned for repair of any defect or defects for a cumulative total of ten or more business days. Defects that are covered by the manufacturer's warranty are not covered by this warranty if the Dealer gives you a copy of the manufacturer's warranty, that warranty has been assigned to you, and the Dealer assures that those defects are repaired. This warranty is provided pursuant to M.C.L. c. 90 s. 7N1/4, the used vehicle warranty law. For further information about that law contact the Executive Office of Consumer Affairs and Business Regulation at 727-5095. Please sign and date this warranty belo MILESKI OMFTERS HEREBY CERTIFY THAT I HAVE RECEIVED A COPY OF THE ABOVE ODOMETER (MILEAGE) STATEMENT If you have mechanical or operating problems ss safety inspection within seven (7) days * This is a Colletor's Car, Buyer assumes y the dealer immediately. He may be required our money. This vehicle is covered by the implied and fitness for a particular purpose. THESE Responsibility for all Repairs LE IN ADDITION TO ANY OTHER WARRANTIES "The purchaser agrees to pay the seller the sum of \$ on delivery of this agreement, receipt of which is hereby acknowledged, and to pay to the seller the balance due on or before 20 or purchaser hereby agrees to forfeit said amount to the seller as and for liquidated damage for his breach. Title will not pass to purchaser until payment in full has been made. If final payment is made by check, title will 'not pass until check is pald." The purchaser certifies that he is of legal age and has full legal capacity to enter into this agreement, and that the car he is trading in is free and clear of all encumbrances whatsoever. Dated Accepted Final Settlement of Bill Must Be in Cash or Certified Check

202/ Purchaser's Signature

Sold subject to approval of an Executive of the Company

Delivery Accepted